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Match #3


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Only two acts long, it takes place in a Spanish prison.  Rocco is the jailor, and his assistant, Jaquino (ZHAH-kee-noh), loves Rocco’s daughter Marzelline, but she is smitten with the title character.  The problem is that the title character is Leonore in disguise.  Identify this short 1814 opera, the only one by Ludwig van Beethoven.

ANSWER:  Fidelio
2.
This novel’s main character is rescued by the crew of the fishing boat We’re Here, and ends up spending the summer working with captain Disko Troop, his son Dan, and other crew members. The transformation of Harvey Cheyne, Jr., a spoiled 15-year-old rich kid, is the central concept of what Rudyard Kipling novel?

ANSWER: Captains Courageous
3.
For carbon dioxide, it’s 31 degrees Celsius; for mercury, 1462 degrees Celsius; and for water, 374.4 degrees Celsius.  Name this temperature above which a substance’s gas phase cannot be made to liquefy.

ANSWER:
critical temperature

4.
This modern country had a short-lived independence under the Mahdi between 1881 and 1899. Between 1955 and 1972, and once more between 1983 and 2005, the Christian south fought a civil war against the Muslim north. What African country has recently been in the news for a conflict with Chad and conflict with natives of Darfur?

ANSWER: Sudan
5.
This 2006 song was the first song from a British artist to top the chart since Elton John’s “Candle in the Wind.” The third single off his 2005 album Back to Bedlam is what song about a former girlfriend of musician James Blunt?

ANSWER:  “You're Beautiful”

6.
He studied how ammonia is transformed in the body to a less toxic substance. He also studied the formation of a new acid from oxaloacetate (awk-sah-loh-uh-SEE-tate) and pyruvate (PIE-roo-vate) during cellular respiration. What scientist won the 1953 Nobel Prize for describing the urea (YOU-ree-uh) cycle and the citric acid cycle?

ANSWER: Hans Adolf Krebs
7.
Discovered 40 years after the Venus de Milo, it is another example of Classical Greek Art. French archaeologist Charles Champoiseau (sham-pwah-SOH) discovered this work on an island in 1863.  Now displayed in front of the Daru staircase at the Louvre (LOOV) Museum, one of its hands was found in 1950, but the rest of its arms and its head are still missing.  Identify this Hellenistic sculpture of a goddess with wings.

ANSWER:  Winged Victory of Samothrace (SAM-oh-thrace) (acces Nike of Samothrace, prompt on “Winged Victory”)

8.
Its name allegedly comes from Chickasaw words meaning “water runs through flat land.” Novels such as Light in August, Sanctuary and The Sound and the Fury are set here. The real-life Lafayette County, Mississippi, is supposedly the inspiration for what fictional county created by William Faulkner? 

ANSWER: Yoknapawtapha (yawk-nah-paw-TAW-fuh) County

9.
He served as England’s poet laureate from 1843 to his 1850 death. What poet, the author of “I Wandered Lonely as a Cloud,” “Tintern Abbey” and the poetic autobiography, The Prelude, is best-known for his collaboration with his friend Samuel Taylor Coleridge on Lyrical Ballads? 

ANSWER: William Wordsworth
10.
He was born in 1929 in Cairo; after his mother’s death in 1934, he moved to Jerusalem. In 1970, he was expelled from Jordan during Black September, and moved to Beirut. In 1982, he moved to Tunisia; by 1993, he had helped engineer the Oslo Accords. Between 1969 and his 2004 death, who led the Palestinian Liberation Organization? 

ANSWER: Yassir Arafat
11.
She was paid to leave Laurel, Mississippi, after numerous affairs – including one with one of her high school English students. Her family home, Belle-Reve, was foreclosed, so she visits her sister in New Orleans’ French Quarter. What Tennessee Williams character ended up committed to a mental hospital by her sister Stella Kowalski in A Streetcar Named Desire?

ANSWER: Blanche DuBois

12.
This rebellion’s first shots were in what is now South Park, Pennsylvania, although protests were brewing up and down the frontier. Thirteen thousand men were personally led by President George Washington to suppress what rebellion, launched over a new excise tax on distilled spirits and named for the drink made all over the frontier? 

ANSWER: Whiskey Rebellion
13.
THIS IS A COMPUTATION QUESTION.  The NBA season has 82 games, and the Bulls’ single-season record is 72 wins. If an NBA team has a record of 40 wins and 2 losses, in order to tie the record, what percentage of their remaining games would they have to win?  

ANSWER:
80 percent or .800  (The record was set by Michael Jordan’s 1995-1996 Chicago Bulls team.)

14.
What is the quantity of the charge in the chromic, manganic, nickelic, cobaltic, and ferric ions?

ANSWER:
plus three
15.
It acquired renewed interest in 1898, when a photographic negative revealed the face and body of a man in it. Since then, various tests have been performed on this 14 foot by 4 foot piece of cloth that either give it a medieval origin or a 1st century AD origin. What is this object, said to be the burial cloth of Jesus?

ANSWER: Shroud of Turin or Turin Shroud
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What does HIV stand for?

ANSWER:
human immunodeficiency virus (ih-MEW-noh-deh-fih-shen-cee)

1B.
Eccrine (eh-KRINE) and apocrine (ah-poh-KRINE) glands on humans secrete what substance designed to evaporate and regulate temperature?

ANSWER:
sweat or perspiration
2A.
THIS IS A COMPUTATION QUESTION. What is the volume of a cylinder with height 12 feet and radius 9 feet?

ANSWER:
972 pi cubic feet
2B.
What American folk hero, a “steel driving man,” challenged a steam hammer to a contest and died right after defeating it?  

ANSWER:  John Henry

3A.
Which comedian has starred in the films Old School, Bewitched and recently as race-car driver Ricky Bobby in Talladega Nights?

 

ANSWER:    Will Ferrell
3B.
What nickname of the American Party of the 1840s and 1850s was acquired due to its members’ answer when asked about the party’s activities? 

ANSWER: Know-Nothing Party
4A.
What hiking trail extends between Mount Katahdin in Maine and Springer Mountain in Georgia? 

ANSWER: Appalachian Trail
4B.
THIS IS A COMPUTATION QUESTION.  What is the y-intercept of the line 4x plus 18y equals negative 144?

ANSWER:
(0, negative 8) or negative eight

5A.
What eleven-letter word refers to the next to last of a series, such as the syllable in a word that is usually stressed in Spanish?
ANSWER: penultimate

5B.
The Foundation trilogy is the best-known work of what Russian-American science fiction author? 

ANSWER: Isaac Asimov
6A.
C6H6 is the formula for what ringed molecule?

ANSWER:
benzene
6B.
What novel by George Eliot has the title character miserly guarding a pot of gold until an orphan girl named Eppie appears on his doorstep? 

ANSWER: Silas Marner
7A.
THIS IS A COMPUTATION QUESTION. What is the average of 27, 58, 38, and 17?

ANSWER:
35
7B.
What kind of clouds are high, wispy clouds that often form at altitudes of more than 7,000 meters and are created by ice crystals?

ANSWER: cirrus
8A.
Randal McCloy was the only survivor of a January explosion in West Virginia at what kind of job site, whose workers usually dig for bituminous and anthracite deposits?

ANSWER: (Sago) coal mine
8B.
Name either of the two daughters of Laban (LAY-bun) who married Jacob in the book of Genesis. 

ANSWER: Leah or Rachel

9A.
Which of King Arthur’s knights had an affair with Queen Guinevere (gwen-uh-VEER)? 

ANSWER: Sir Lancelot
9B.
What three numbers are the side lengths of the smallest right triangle with integer sides?

ANSWER:
3, 4, 5 (accept in any order)

10A.
During their Winter War against the Soviet Union, the Finns invented what incendiary device that consists of a bottle with gasoline and a burning rag in it? 

ANSWER: Molotov cocktail

10B.
How many members comprise the Virginia House of Delegates?

ANSWER: 100
Third period, 15 toss-ups, 10 points each

1.
TWO ANSWERS REQUIRED. The bill that created the Freedmen’s Bureau made no mention of these, although William Tecumseh Sherman had previously ordered the distribution of former plantation land to freedmen. After the Civil War, what two items did many freed slaves believe would be their compensation?

ANSWER: 40 acres and a mule
2.
In Georgian, this word is translated as ara (ah-RAH). In Japanese, it is iie (ee-ee-ay). In Greek, it is oxi (aw-hee). In Latin, Italian and French, it is the same as in English, but with an “n” added to it. In Russian, it is nyet (nee-yet). It is the same in Spanish and in English. What is this two-letter word, the opposite of “yes”? 

ANSWER: no
3.
For water, it’s 80; for paper, 3.7; and for strontium titanate, 233.  Name this ratio of an insulator’s capacitance to the vacuum capacitance, abbreviated kappa.

ANSWER:
dielectric constant
4.
This poet is known for lines such as, “No bandage can cover my scars / It’s hard leaving a life behind.” A 2002 McDonald's All-American and graduate of Cave Spring High School in Roanoke, he was selected by the Orlando Magic with the 11th pick of the 2006 NBA Draft. Who is this now former Duke shooting guard, the ACC's all-time leading scorer?

ANSWER:  J. J. Redick
5.
Becker’s and Duchenne are two forms of this hereditary disease characterized by progressive weakness and eventual paralysis. What disease is fought by Jerry Lewis’s telethon?

ANSWER:
muscular dystrophy or MD
6.
In this film, Joe Miller is a low-level attorney who is hired by Andrew Beckett, a lawyer who was fired by his law firm after he develops symptoms indicative of the AIDS virus.  Jonathan Demme directed this 1993 movie starring Denzel Washington as Miller and Tom Hanks as Beckett, in the first of his consecutive Oscar-winning performances. What is this movie set in and named for Pennsylvania’s largest city? 


ANSWER:  Philadelphia 

7.
The most widely used standard is the IEEE 754. It starts with the most significant bit as the sign bit, the next eight bits are the exponent, with the last 23 bits left to represent the actual number. Underflow is a risk in what standard of representing fractions into binary? 

ANSWER: Floating Point Standard or IEEE Standard for Binary Floating Point Arithmetic
8.
The Dutch called it the “North River.” Its major tributary is the Mohawk River and it is navigable as far as Troy. What river forms the extreme eastern end of the border between New York and New Jersey and flows past Albany, the Bronx and Manhattan? 

ANSWER:  Hudson River

9.
The latter part of this novel contains a series of AP dispatches from Chamberlain, Maine, as Ewen (U-win) High School burned to the ground. The fire was started after the title character was crowned prom queen and a bucket of blood was dumped on her. In what Steven King novel did the title character possess telekinetic powers?

ANSWER: Carrie (Steven King)

10.
In 1985, he allegedly organized the shooting of his predecessor, Paul Castellano, and took over the Gambino family. He evaded the FBI by holding meetings in public and playing white noise near hidden microphones. What mobster got the nicknames “Dapper Don” for his expensive suits and “Teflon Don” for his ability to win acquittals, and lives with a TV show featuring his daughter Victoria?

ANSWER: John Gotti
11.
In 1954, the British arrested 30,000 people in Nairobi, cutting off the Land and Freedom Armies from new recruits, and eventually from supply. By 1957, this Kikuyu-led (kih-KOO-you) insurgency that started in 1952 had collapsed. Jomo Kenyatta led what 1950s rebellion against British rule in Kenya? 

ANSWER: Mau Mau uprising

12.
In November 2005, this man dissolved parliament so that he could install a new political party, whose name translates as "Forward".  Ehud Olmert took power in January after what Prime Minister suffered a massive stroke while at his home in the Negev?

ANSWER: Ariel Sharon
13.
In the incorrect sentence, “Having broken down again, I was able to get the car pulled off to the side of the road,” what adjective describes the modifier in that sentence?

ANSWER: dangling or misplaced) (accept either modifier or participle as a second word, so “dangling participle” would be OK)

14.
Much of the bedrock in the Piedmont and Blue Ridge mountains is of this general class of rock. Additionally, marble and slate are part of what class, which is formed by transforming other rocks under tremendous heat and pressure?

ANSWER: metamorphic
15.
In what quadrant are sine values positive and cosine values negative?

ANSWER:
2 or second
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This virus is made up of a 2,134-molecule capsid and a 6,401-base-long RNA molecule. It can affect tomatoes, peppers and cucumbers, in addition to the inedible plant for which it is named, and causes the leaves to turn various colors. What virus was the first to be discovered, and is abbreviated TMV? 

ANSWER:
tobacco mosaic virus (prompt on “tobacco virus”)

2.
Born June 23, 1991, he weighs 77 pounds and is just over three feet tall.  A native of Christmas Island, his friends include Cream the Rabbit, Knuckles the Echidna, and Tails the Fox, while his girlfriend is Amy Rose.  Eggman is the adversary to what Sega video game hero, an animal who can run faster than the speed of sound?

ANSWER:  Sonic the Hedgehog
3.
The lower house of North Carolina’s legislature had this ironic name for much of the 19th century, and Southern Ireland got rid of theirs in 1922. In Canada, there are 308 members, and in the United Kingdom, there are 659 members. What is the name of the lower house of Parliament in both Canada and the United Kingdom?

ANSWER: the House of Commons
4.
THIS IS A COMPUTATION QUESTION. What is the radius of a cone with height 9 feet and volume 192 pi cubic feet?

ANSWER:
8 feet
5.
This five-letter word can mean to sing heartily, a method of fishing that involves dragging a baited line behind the boat, or going around an area in search of something. What word today most often refers to stirring up arguments in online forums or a creature that lives under bridges? 

ANSWER: troll (accept word forms)

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

